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Pascal

procedure Byline;
begin
writeLn("———————— = ):
writeLn(®™ This program is written by %)
writeLn(” Lady Emily Dunsmore ")
writeln("————————— )
end;

This program is written by
Lady Emily Dunsmore

Byline;




program FirstSubrutine(input, output);

var ;{ }

procedure Byline;
begin
writeLn("———————— =
writeLn(® This program i1s written by
writeLn(” Lady Emily Dunsmore
writeLn("—-————————
end,;

begin
Byline; Byline;

Byline;

end.




procedure Byline2(var name: string);

begin
writeLn("———————— = ):
writeLn(" This program is written by %);
writeLn(" " ,hame);

writeLn("-——————— = );
end;

name




SecondSubrutine

program SecondSubrutine(input, output);
var nl,n2,n3: string;
procedure Byline2(var name: string);

begin
writeLn("---------———————————————————— ")
writeLn(®" This program iIs written by ");
writeLn(" " ,hame);
writeLn("-------—---———"—"—————————————— ")s
end;

begin Byline2

nl -= "Kazutoshi Ando~;

n2 -= "Kenjiro Takayanagil”;

Byline2(n2); «
Byline2(nl); <
end.

nl n2




SecondSubrutine

program SecondSubrutine(input, output);
var nl,n2: string;
procedure Byline2(var name: string);
begin
writeln("-----——————— - ");
writeLn(® This program is written by %);
writeLn(” " ,name);
writeln("-----——————— - ");
end;
begin
nl -= "Kazutoshi Ando”; »nl| Kazutoshi Ando
n2 -= "Kenjiro Takayanagi”;
Byline2(n2); »n2 |Kenjiro Takayanagi
Byline2(nl);
end. --;;;;;:::]__, 2




ThirdSubrutine

program ThirdSubrutine(input, output);
var nl: string;
procedure Byline2(var name: string);
{ 1
procedure Getname(var authorname: string);
begin
writeLn("Type your name.");
readLn(authorname);
end;
begin
GetName(nl);
Byline2(nl);
end.




ThirdSubrutine

program ThirdSubrutine(input, output);

var nl: string;

procedure Byline2(var name: string);
{ }

procedure Getname(var authorname: string);
begin
writeLn("Type your name.");

readLn(authorname);

i end; »nl| Kazutoshi Ando
egin

Getname(nl); ._l_,
Byline2(nl); e ’

end. — duthorname —* ?




ThirdSubrutinel

program ThirdSubrutinel(input, output);
var nl, n2: string;
procedure Byline2(var name: string);
{ 1}
procedure Getname(var authorname: string);
begin
writeLn("Type your name.");
readLn(authorname);
end;
begin
GetName(nl);
Byline2(n2);
end.




ThirdSubrutinel

program ThirdSubrutinel(input, output);
var nl, n2: string;

procedure Getname(var authorname: string);

1}

begin

Getname(nl); *nl| Kazutoshi Ando
Byline2(n2);
end. [z

nNname 'J—b 2

— guthorname — 2







var x, m, y, z3,
begin

numl:

integer;




Program Factorial2(input, output);
var X, m, y, z3, y, numl: integer;
Factorial(var out, n: i1nteger);

L

begin
Factorial(z3, x); {z3 := X }
Factorial(y, m); {y :=m }

Factorial(numl, y); {numl = vy

end.




Factorial

program Factorial(input, output);
var
1, n, product: real,;
begin
readln(n);
product := 1;
1 -=1;
while 1 <= n do
begin
product := product * 1;
1 =1 + 1;
end;
writeLn(n:-8:2," " ,product:8:2,"

)

end.




Factorial

procedure Factorial(var out, n: 1nteger);

var
-— - f
i: integer; :]

begi? t\

out :-=
1 = 1




Power

var

procedure Power(var out, a, n:

integer);

_

1. Integer;
begin
out :-=
1 = 1;
while 1
begin

1;

.

)




Factorial?

program Factorial2(input, output);
var nO, product: i1nteger;
procedure Factorial(var out, n: Integer);

1}

begin

n0 -= 10;

Factorial (product, n0O);

writeLn(no, " " ,product, " ");

end.







Factorial3

program Factorial3(input, output);

var i1, nO, product: Integer;
procedure Factorial(var out, n: iInteger);

{ wvar i: integer; }
begin
{ +
end;
begin
1:=100;
n0 -= 10;
Factorial (product, n0);
writeLn(noO, " " ,product, " ");
writeLn(™ i = ", 1);

end.




ReadArray
AddArray

Integerarrayl00

type
integerarraylOO = array[l..100] of integer;



ReadArray

procedure ReadArray(var n: integer;
var B: i1ntegerarrayl00);
var 1: 1nteger,;
begin
writeLn("How many entries?");
readLn(n);
1 = 1;
while 1<=n do
begin
writeLn(" Input entry ",1);
readIn(B[1]);
1 -= 1+1;
end;
end,;




AddArray

procedure AddArray(var n: i1nteger;

var C: i1ntegerarrayl00;

var answer: i1nteger);
var
1. Integer;
begin
answer :-= 0;
1 = 1;
whille 1 <= n do
begin
answer :-= C[1] + answer;
1 -= 1+1;
end;
end;




ReadAddArray

program ReadAddArray(input, output);
type
integerarraylOO = array[l..100] of integer;
var
n, answer: i1nteger;
A: 1ntegerarrayl00;
procedure ReadArray(...);
procedure AddArray(...);
begin
writeLn("Read:");
ReadArray(n,A);
writeLn("Add up.*);
AddArray(n,A,answer);
writeLn("The answer: *,answer);
end.
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